Mathematics 1 AESB1110-15: Test 2 - ANSWERS

October 21, 2016

Rules:

e No points are assigned for a question if only the final answer is given without
any intermediate steps.

e Subtract 0.25 p. for the first occurrence of an arithmetic error. Do not
subtract further points if the same error ‘propagates’ into subsequent calcu-
lations.

Answer to Question 1:
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Answer to Question 2:
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We want: error < 0.001
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Hence, formally, we would choose the interval of z, so that, §|:c|3 < 0.001,
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However, since z > 0,
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Answer to Question 3:
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Answer to Question 4:
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Answer to Question 5: The integrand is discontinuous at z = 1.
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